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HE) XYRAFT—

B HH ZEH - ZETE#
XA07A-R103 HEE(EE) =1 um/20mm — = 0.6 um/20mm
YAO07A-R103 HEE(EEH) =1 um/20mm — = 0.6 um/20mm
XA07A-R202 HEEE(EE) =1 um/20mm — = 0.6 um/20mm
YA07A-R202 HEE(EEH) =1 um/20mm — = 0.6 um/20mm
XAO07F-R103 HEEE(EE) =1 um/20mm — = 0.6 um/20mm
YAO07F-R103 HEEE(EE) =1 um/20mm — = 0.6 um/20mm
XA07F-R202 HEEE(EE) =1 um/20mm — = 0.6 um/20mm
YAO07F-R202 HEEE(EE) =1 um/20mm — = 0.6 um/20mm
XA10A-R102 HEEE(EE) =1 um/256mm — =0.5 yum/25mm
YA10A-R102 HEE(EE) =1 um/256mm — =0.5 um/25mm
XA10A-R202 HEE(EE) =1 um/256mm — =0.5 um/25mm
YA10A-R202 HEE(EEH) =1 um/256mm — =0.5 um/25mm
XA10F-R102 HEEE(EE) =1 um/25mm — =0.5 um/25mm
YA10F-R102 HEEE(EE) =1 um/256mm — =0.5 yum/25mm
XA10F-R202 HEEE(EE) =1 um/256mm — =0.5 um/25mm
YA10F-R202 HEEE(EE) =1um/256mm — =0.5 um/25mm

RHEY—-FBRE =15 yum/50mm — =8 um/50mm
XAO05A-L202 Ny I7yva =lum — =05um

E—AVIHE 0.26 arcsec/N-cm  — 0.2 arcsec/N-cm

RHEY—-FBRE =15 um/70mm — =8 um/70mm
XAO07A-L202

E—AVIHE 0.26 arcsec/N-cm  —  0.18 arcsec/N-cm
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BE) XYAF—>

B I B EEM TE#®
XA10A-L101 EHEE(EE) = 3 1 m/100mm < 2 um/100mm
YA10A-L101 HEE(EE) = 3 1 m/100mm < 2 um/100mm

RHEY—-FEE = 15 £ m/100mm = 8 um/100mm
XA10A-L201 BEEE(EE) = 3 um/100mm = 2 um/100mm

Ny I3vya =2 um =1lum

RHEY—-FERE = 15 £ m/100mm = 8 um/100mm
YA10A-L201 BEEE(EE) = 3 um/100mm = 2 um/100mm

Ny Ivya =2 um =1lum
XA16A-R202 RHEY—-FERE = 10 ¢ m/60mm =6 um/60mm
YA16A-R202 RHEY—-FBRE = 10 ¢ m/60mm =6 um/60mm
XA16F-L2101 HEEE(EE) = 4 ym/100mm = 2 um/100mm

BHE ZRA5—>

B I B EEM TE#®
ZA05A-W101 EEHE = 6 u£m/8mm =5 uym/8mm
ZA05A-W2C01 BR LAIERDIEE = £05 um = £0.2 um

BR LAIERDIEE = £05 um = +02 um
ZA07A-W202
AXbE—>a3V =1um =05 um
ZA07A-W2C02 BR LAIERDIEE = £05 um = £0.2 um
ZAO07A-V1F01 BE LAIERDIEE = £05 um = £0.2 um
ZA10A-W202 BRIB LAERDIEE = £05 um = £0.2 um
ZA10A-W2C02 BR LAIERDIEE = £05 um = £0.2 um
ZA10A-32F01 BRIB LOERDIEE = £05 um = £0.2 um
BR LAIERDIEE = £05 um = +03 um
ZA16A-32F01
AXbE—>a3V =2um =lum
ZA16A-W2C01 BR LAIERDIEE = £05 um = £0.2 um
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BE EEXT—>

B 15 B ZTHERH —» ZTE#
AEBERMKE = 0.005° - = 0.002°
RA04A-WO01
Ny Iya = 0.002° — = 0.001°
RAO5A-W02 AEBRM = 0.005° - = 0.002
AEBERMNE = 0.003° - = 0.002°
RAO7A-W02
miRh = 20 um/360° - =15 um/360°
RA10A-WO01 Rl =6 um/360° - =5 um/360°
RA10A-T02 AXPFPE—3YV = 0.005° - = 0.003°
B&) XA NIVAFT—S
B R 1H# B ZTZHEH —» ZTEE
SA05A-R2T01 BR LAEROEE = +0.003° — = £0.0071°
SA05A-R2M01 BRLABROBE = +0.003° - = *0.001°
SA05A-R2B01 BRLABRDIBE = +0.003° - = *=0.001°
SA05A-R2G01 BRLAERDIEE = +0.003° — = £0.0071°
SA05A-R2S01 BB LAEROEE = +0.003° — = £0.001°
SAO05A-R2L01 BRLAEROEE = +0.003° — = £0.001°
SA05A-R2BG01 BRLAERDIEE = +0.003° — = £0.001°
SA13A-RTO01 Ny I3ya = 0.003° - = 0.001°
AXpFPE—3YV = 0.005° - = 0.002°
SA13A-RMO1
Ny Iyra = 0.003° - = 0.001°
i = 0.005° (RTOL)
OZFE—ay = 0005 - ]
SA13A-RS01 = 0.002° (RMO01)
Ny Iyra = 0.003° - = 0.001°
SA16A-RTO1 Ny Iyra = 0.003° - = 0.001°
AXbFE—3V = 0.005° e = 0.002°
SA16A-RMO01
Ny Iya = 0.003° — = 0.001°
= 0.005° (RTO1)
OXFE—Y 3y = 0.005° - .
SA16A-RS01 = 0.002° (RMO01)
Ny Iya = 0.003° — = 0.001°
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